DMKC Agility Trial - Saturday Toro County Park in Badger Flats 6/3/2006

Standard

NAS		Entered	Showed	Qualified	% Qualified that Showed
20 Inch		1	1	1	100.00
24 Inch		2	2	0	
<u> 24 IIICII</u>		3	3		0.00
		3	3	1	33.33
NBS		Entered	Showed	Qualified	% Qualified that Showed
12 Inch		3	2	0	0.00
16 Inch		1	1	1	100.00
20 Inch		6	5	3	60.00
24 Inch		4	3	2	66.67
		14	11	6	54.55
os		Entered	Showed	Qualified	% Qualified that Showed
12 Inch		4	3	2	66.67
16 Inch		2	2	0	0.00
20 Inch		8	8	3	37.50
24 Inch		3	3	0	0.00
		17	16	5	31.25
EAS		Entered	Showed	Qualified	% Qualified that Showed
12 Inch		2	1	0	0.00
16 Inch		1	1	0	0.00
20 Inch		10	10	1	10.00
24 Inch		4	4	0	0.00
		17	16	1	6.25
EBS		Entered	Showed	Qualified	% Qualified that Showed
8 Inch		1	1	1	100.00
12 Inch		8	8	2	25.00
16 Inch		10	10	3	30.00
20 Inch		12	12	7	58.33
24 Inch		13	12	5	41.67
		44	43	18	41.86
	Total Standard	95	89	31	34.83

DMKC Agility Trial - Saturday Toro County Park in Badger Flats 6/3/2006

JWW

20 Inch 3 3 1 33.33 24 Inch 2 2 1 50.00 5 5 2 40.00 NBJ Entered Showed Qualified % Qualified that Showed 12 Inch 2 1 1 00.00 26 Inch 6 6 4 66.67 24 Inch 3 2 1 50.00 0J Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 15 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 24 Inch	NAJ		Entered	Showed	Qualified	% Qualified that Showed
24 Inch 2 2 1 50.00 NBJ Entered Showed Qualified % Qualified that Showed 12 Inch 2 1 1 100.00 16 Inch 1 1 1 100.00 20 Inch 6 6 4 66.67 24 Inch 3 2 1 50.00 0J Entered Showed Qualified % Qualified that Showed 0J Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 Inch 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 24 Inch 7 7						
NBJ Entered Showed Qualified % Qualified that Showed 12 Inch 2 1 1 100.00 16 Inch 1 1 1 100.00 20 Inch 6 6 4 66.67 24 Inch 3 2 1 50.00 CJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 Inch 1 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1	24 Inch				1	
12 Inch 2 1 1 100.00 16 Inch 1 1 1 100.00 20 Inch 6 6 4 66.67 24 Inch 3 2 1 50.00 12 Inch 3 2 1 50.00 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 25 Inch 9 8 2 25.00 16 Inch 10 </th <th>-</th> <th></th> <th></th> <th></th> <th></th> <th></th>	-					
12 Inch 2 1 1 100.00 16 Inch 1 1 1 100.00 20 Inch 6 6 4 66.67 24 Inch 3 2 1 50.00 12 Inch 3 2 1 50.00 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 25 Inch 9 8 2 25.00 16 Inch 10 </th <th></th> <th></th> <th></th> <th></th> <th></th> <th></th>						
16 Inch 1 1 1 100.00 20 Inch 6 6 4 66.67 24 Inch 3 2 1 50.00 OJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 Inch 1 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 24 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00	-					
20 Inch 6 6 4 66.67 24 Inch 3 2 1 50.00 OJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 24 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00	12 Inch		2	1	1	100.00
24 Inch 3 2 1 50.00 12 10 7 70.00 OJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00	16 Inch		1	1	1	100.00
OJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00<	20 Inch		6	6	4	66.67
OJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 Inch 2 50.00 9 2 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 <td< th=""><th>24 Inch</th><th></th><th>3</th><th>2</th><th>1</th><th>50.00</th></td<>	24 Inch		3	2	1	50.00
12 Inch 3 2 0 0.00 16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27			12	10	7	70.00
16 Inch 1 1 0 0.00 20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	OJ		Entered	Showed	Qualified	% Qualified that Showed
20 Inch 9 9 2 22.22 24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	12 Inch		3	2	0	0.00
24 Inch 3 3 1 33.33 16 15 3 20.00 EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	16 Inch		1	1	0	0.00
EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	20 Inch		9	9	2	22.22
EAJ Entered Showed Qualified % Qualified that Showed 12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	24 Inch		3	3	1	33.33
12 Inch 3 3 1 33.33 16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64			16	15	3	20.00
16 Inch 2 2 1 50.00 20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	EAJ		Entered	Showed	Qualified	% Qualified that Showed
20 Inch 7 7 1 14.29 24 Inch 7 7 1 14.29 19 19 4 21.05 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	12 Inch		3	3	1	33.33
24 Inch 7 7 1 14.29 19 19 4 21.05 EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	16 Inch		2	2	1	50.00
EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	20 Inch		7	7	1	14.29
EBJ Entered Showed Qualified % Qualified that Showed 8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	24 Inch		7	7	1	14.29
8 Inch 1 1 0 0.00 12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64			19	19	4	21.05
12 Inch 9 8 2 25.00 16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	EBJ		Entered	Showed	Qualified	% Qualified that Showed
16 Inch 10 10 5 50.00 20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	8 Inch		1	1	0	0.00
20 Inch 14 14 7 50.00 24 Inch 12 11 3 27.27 46 44 17 38.64	12 Inch		9	8	2	25.00
24 Inch 12 11 3 27.27 46 44 17 38.64	16 Inch		10	10	5	50.00
46 44 17 38.64	20 Inch		14	14	7	50.00
	24 Inch		12	11	3	27.27
Total IWW 98 93 33 35 /8			46	44	17	38.64
Total IWW 98 93 33 35 /8						
10ta 0000 90 90 90 90.40		Total JWW	98	93	33	35.48

DMKC Agility Trial - Saturday Toro County Park in Badger Flats 6/3/2006

Standard Preferred

NPS	Entered	Showed	Qualified	% Qualified that Showed
8 Inch	1	1	1	100.00
12 Inch	1	1	1	100.00
16 Inch	2	2	1	50.00
20 Inch	1	1	1	100.00
	5	5	4	80.00
OPS	Entered	Showed	Qualified	% Qualified that Showed
16 Inch	3	3	2	66.67
20 Inch	1	1	0	0.00
	4	4	2	50.00
EAPS	Entered	Showed	Qualified	% Qualified that Showed
20 Inch	3	3	1	33.33
	3	3	1	33.33
EBPS	Entered	Showed	Qualified	% Qualified that Showed
12 Inch	1	1	0	0.00
20 Inch	2	2	0	0.00
	3	3	0	0.00
Total Standard Preferred	15	15	7	46.67

DMKC Agility Trial - Saturday Toro County Park in Badger Flats 6/3/2006

JWW Preferred

NPJ	Entered	Showed	Qualified	% Qualified that Showed
4 Inch	1	1	1	100.00
8 Inch	2	2	1	50.00
12 Inch	1	1	1	100.00
16 Inch	3	3	3	100.00
20 Inch	1	1	1	100.00
	8	8	7	87.50
OPJ	Entered	Showed	Qualified	% Qualified that Showed
4 Inch	1	1	1	100.00
16 Inch	2	2	2	100.00
20 Inch	3	3	2	66.67
	6	6	5	83.33
EAPJ	Entered	Showed	Qualified	% Qualified that Showed
20 Inch	1	1	0	0.00
	1	1	0	0.00
EBPJ	Entered	Showed	Qualified	% Qualified that Showed
12 Inch	2	1	1	100.00
20 Inch	3	3	3	100.00
	5	4	4	100.00